E{:;ifﬁ/.b\;/\

[-16

X=-136200. 000

X=-135900. 000
Y= -39000. 000

Y= -39000. 000

DT

4

[

b

X=-136200. 000
Y= -39200. 000

X=-136200. 000
Y= -39000. 000

SHM4E3 ARE

XANHETKERIR

y

IHETSE

y

1/500

Om 12.5m 25m 37.5m 50m

ERRYET, BRI HRMAEZITOTT I,

J-151J-16 | J-17

5 g
— | BHEEE
— > | EBEE
R 5K
_s [
— =

— e SIE
A 7l
O IO AT,
© YE AT,
@ ~ @) | o~48A%
) ~ 5~65A7L
A 8S AT
9B A7
@ ®1 S AT
[~ m2~asin
o H5O AT
[] MERERATL
[[ RIEATL
O 5% AT
N SRR
RIZK I
X tRATAFL
q ] PAFLB 50
(o) BAAA60
1] B
(A) ~ A~KSAFL
(7] K Iie
g o
| Fpu I
. =—Adl
@) 20t - F6
* 9
@ JNHEK
o | sstmm
o BRIk
|_| Fv v JIE
o 7> T8
o | zotm- xs
A B #
WS
0 5. 320
TR B #

E Ef%ﬁfis;@% Hf] AR
. 3 e

VU ©200 3. 98% 25. 40m

O

3
3 720 3 620" ©
FrEES ThEES

E»?&E EliE EE ‘@}a = ARG
v & ¥

W ©200 3. 98%. 25. 40m
3720 3 620

LREES THRESS

.20)

R &8 B &

EiiE B BUEILE BIEH

N v
|—0 ©150 2.76 13.59




E{:;ifﬁ/.b\;/\

[-16

X=-136200. 000

X=-135900. 000
Y= -39000. 000

Y= -39000. 000

DT

\\bO'O 877 0510
J N\
AN

N\

/A/

v/

X=-136200. 000
Y= -39200. 000

X=-136200. 000
Y= -39000. 000

SHM4E3 ARE

KA TKEEERK

IHETSE

y

1/500

Om 12.5m 25m 37.5m 50m

ERRYET, BRI HRMAEZITOTT I,

J-151J-16 | J-17

5 g
— | BHEEE
— > | EBEE
R 5K
_s [
— =

— e SIE
A 7l
O IO AT,
© YE AT,
@ ~ @) | o~48A%
) ~ 5~65A7L
A 8S AT
9B A7
@ ®1 S AT
[~ m2~asin
o H5O AT
[] MERERATL
[[ RIEATL
O 5% AT
N SRR
RIZK I
X tRATAFL
q ] PAFLB 50
(o) BAAA60
1] B
(A) ~ A~KSAFL
(7] K Iie
g o
| Fpu I
. =—Adl
@) 20t - F6
* 9
@ JNHEK
o | sstmm
o BRIk
F—4 Fv v JIE
o 7> T8
o | zotm- xs
A B #
WS
0 5. 320
TR B #

E Ef%ﬁfis;@% Hf] AR
. 3 e

VU ©200 3. 98% 25. 40m

O

3
3 720 3 620" ©
FrEES ThEES

E%?Eﬁﬁ%ﬁﬁmzﬁﬁﬁ
v & ¥
W ©200 3. 98%. 25. 40m
3720 3 620
LREES THRESS

.20)

R &8 B &

EiiE B BUEILE BIEH

N v
|—0 ©150 2.76 13.59




